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I. Why are there different ways of saying the same thing in a given language? 

(1)

a. 


Harry ate the leftovers.



b.


It’s Harry who ate the leftovers.



c.


The leftovers were eaten (by Harry). 



d.


Harry, he ate the leftovers.
II. The theory of information structure

A. Propositions are structured pragmatically. 

B. They are ‘packaged’ according to the speaker’s assumptions about what the hearer knows. 

C. They are divided into focused and presupposed portions. 

D. This division is done in terms of a small number of focus categories. 

E. These are conceptual categories.

F. This division is reflected in distinct grammatical forms in a given language.

· Context I. Woman slowly gets on bus, laden with grocery bags. Apologizing to disgruntled fellow passengers, she says:

	French
	Italian
	English
	Japanese

	J’ai ma voiture 

qui est en panne.
	Mi si è rotta la

macchina.
	My car broke

down.
	Kuruma ga

koshoo-shi-ta.


· Context II. Speaker is asked by a friend to lend her car. Speaker responds:

	French
	Italian
	English
	Japanese

	Ma voiture, elle

est en panne.
	Si è rotta.
	It broke down.
	Kuruma wa 

koshoo-shi-ta.


III. How does the placement of primary accent reflect the context in which that sentence is uttered? 

IV. An iconic approach to sentence accent (Bolinger 1954)

A. Place the sentence accent in (2a-j)

(2)

Why didn’t she come to work today?


a.


Her husband is sick.


b.


Her husband made a scene.


c.


Her husband is to blame.


d.


Her husband fell off a ladder.


e.


Her husband broke his neck.


f.


Her husband had an accident.


g.


Her husband died.


h.


Her husband is responsible.


i.


Her husband is irresponsible.


j.


Her husband is in jail. 

(3)
Subject-Accented

a.


Her husband is sick.


c.


Her husband is to blame.


g.


Her husband died.


h.


Her husband is responsible.

(4)
Predicate-Accented

b. 

Her husband made a scene.


d.


Her husband fell off a ladder.


e.


Her husband broke his neck. 


f.


Her husband had an accident.


i.


Her husband is irresponsible.


j. 


Her husband is in jail.

We can say that the prosodic stress...marks the ‘point’ of the sentence, where there is the greatest concentration of information, that which the hearer would be least likely to infer without being told. Prosodic stress does not have to fall as I have described it. The heart of the matter is this very freedom to fall now here, now there, with the speaker’s attitude determining where it will fall. A mechanical rule demands that we predict directly where it will fall. A functional rule predicts indirectly: it will fall here, or there, if the meaning is such-and-such; instead of automatism, we have meaning. (Bolinger 1954: 152)

B. Bolinger’s explanations for the accent patterns in (3-4):

1. (3c), (3h): “the predicates are only repetitions of the initial question ‘why’”.

2. (3a), (3g): “[these predicates] do give some information. The information that they give however, is of a hackneyed sort—sickness and death are majors causes of absenteeism, and one or the other could almost be expected as an excuse for absence. The real information lies in the identity of the person who is sick or who died”.

3. (4): “The...predicates all relate to some occurrence which is out of the ordinary—making a scene, falling off a ladder, landing in jail”. 

C. Problems 

1. Why should dying be construed as an ordinary event, compared to making a scene or falling off a ladder? 

2. If accent is equated with the information point of the sentence, we would be forced to conclude that in (5-6), the speaker assumes that the speaker presupposes variously:

x is sick

x died

Her husband fell off x

Her husband broke x

Her husband underwent x
3. Can we use the information-point analysis in the case of (7-9)?

(a) [Friend looks horrified, and then says:]

My wallet’s missing!

(b) A: Are your contacts bothering you?

B: I’m not wearing my contacts.

(c) A: What did you put in your hair?

B: I put some gardenias in my hair.

(d) A’: How did you wear your hair?

B’: I put some gardenias in my hair.

4. Bolinger too narrowly equates the prosodic peak with the information point of the sentence.

A way out of Bolinger’s quandary

D. Recognize that there are three distinct focus constructions in (3-4).

E. For (4), recognize mechanisms called focus projection and default accentuation.

F. Three focus categories 

1. Some useful definitions 

· Presupposition. The set of propositions evoked by the words and/or structure of a sentence, which the speaker assumes the hearer already knows or believes or is ready to take for granted at the time of the utterance.

· Assertion. The proposition expressed by a sentence which the hearer is expected to know or take for granted as a result of hearing the utterance.

· Focus. The component of a proposition which distinguishes (1) and (2).

· Topic. The denotatum which the utterance is taken to be about. The topic is necessarily either an active or accessible referent:

A: 
Remember my friend Moe?

B: 
Yeah. He was my attorney.

B’: Yeah. His wife was my attorney.

G. Differences which concern the domain of the focus:

	Focus Types
	Subject in Focus
	Predicate in Focus

	Predicate Focus
	-
	+

	Argument Focus
	+
	-

	Sentence Focus
	+
	+


(a) Her husband fell off a ladder.

(b) Her husband is responsible.

(c) Her husband died.

H. Representations

1. Information Structure of a Predicate-Focus Sentence

· Context Proposition: Why didn’t she come to work today?

	Sentence
	Her husband fell off a ladder.

	Presupposition
	‘the woman’s husband is a topic for comment x’

	Assertion
	‘x=had an accident’

	Focus
	‘had an accident’

	Focus portion
	VP


2. Information Structure of an Argument-Focus Sentence
· Context Proposition: Why didn’t she come to work today?

	Sentence
	Her husband is responsible.

	Presupposition
	‘x is responsible’

	Assertion
	‘x=her husband’

	Focus
	‘her husband’

	Focus portion
	NP


3. Information Structure of a Sentence-Focus Sentence

· Context Proposition: Why didn’t she come to work today?

	Sentence
	Her husband died.

	Presupposition
	NONE

	Assertion
	‘the woman’s husband died’

	Focus
	‘the woman’s husband died

	Focus domain
	S


Note: Although both the verb and the subject are in focus, accent falls on the subject.

I. Homonyms 

1. Is this a SF or AF sentence?

Your mom called.

2. Is this a SF or AF sentence?

Your mom called Harry.

3. Is this an AF or PF sentence?

I put some gardenias in the vase.

V. Focus projection and default accentuation in PF sentences.
A. For PF sentences, there are two rules:

1. Accent the last accentable constituent of the VP focus domain.  

2. A nominal expression which denotes a topic must be unaccented. 

B. The sentence accent does not necessarily fall on an information point, but can signal the right boundary of a focus domain:

A: What did you do today?

B: I [went to Nordstrom with my sister [+foc]]. 

C. A verb can receive accent by default.

D. A ‘Move-Left’ Principle for topics following the verb:

A: We got the wine and we ordered three kegs.




B: I don’t think linguists drink beer.

E. An accented noun phrase necessarily denotes a nontopic. By contrast, an accented verb may have an active or inactive denotatum. 

She promised to go shopping and then she didn’t get the stuff.

#She promised to go shopping and then she didn’t get the stuff. 
VI. Default Association: Subjects are Topics

A. Subject is the grammatical realization of the pragmatic role of topic. 

Lambrecht’s Principle of Separation of Role and Reference (1994:185) “Do not introduce a referent and talk about it in the same clause”. Francis, Gregory & Michaelis (2001): only 9% of sentences in English conversation have lexical nouns as subjects. 

(18)
So I got my chicken and all my little net and everything, and something, I had a rock to weight it down, something grabs and just runs with it. And of course there’s no hook, so it can’t be a fish.

B.112:  Uh-huh.




A.113:  I’m sure it’s not a fish, right.  And crab, they don’t bite like that, they don't 


just run with your food. (sw_0143_2290)

· Subjects tend to be referents that are currently under discussion. 

· In many 
languages, such referents are recoverable to the point of not being coded at all. 

· In cases where the subject is not topical, the grammar reflects the marked status of the assertion type. 

· SF is one such case. SF sentences have special features:

a.

The verb is necessarily intransitive, and is usually an achievement or state.

b.

The subject cannot be a pronoun, and it must bear accent.

c.

A special construction is used:

(19)
a.
Biclausal structures with idiomatic interpretations

b.
Inversion: SP or PS
(20)
a. 
J’ai la voiture qui est en panne.


a.’
Y a le téléphone qui sonne! (“Phone’s ringing!”)

b. 

Mi se è rotta la macchina.

b.’

Squilla il telefone! (“Phone’s ringing!”)

c.
 
My car broke down. 

VII. Information Structure in Role and Reference Grammar

A. What parts of Lambrecht’s theory as presented so far are adopted by VVLP?

B. What constructs do VVLP add to Lambrecht’s theory as it has been presented so far? 

